
2998 2999

Factory Fram
es / Pipe Fram

es Fa
ct

or
y 

Fr
am

es
 / 

Pi
pe

 F
ra

m
es

There’s more on the web: misumiusa.com Check out misumiusa.com for the most current pricing and lead time.

Accessories for Factory Frames

Accessories for Factory Frames

Accessories for 
Factory Frames

Part Number Material Surface Treatment

FFS104 304 Stainless Steel —

FFS105 6063  Aluminum Alloy Clear Anodize

FFS106 1018 Carbon Steel  
or Equivalent Chrome Plating

Accessory: Hexagon Socket Head Cap Screw M5-22 x 1

Conductive Plate
FFS104 Set of 50

Clamp for Factory Frame
FFS105

Ring Slider
FFS106 Set of 10

12 8

121.
9

0.
2

o_22_44_04
o_25_44_04

Ø30

Ø34

Ø1
2.

9
Ø1

5.
3

34

2.56
48 25
60

7

M5

7
18

15
45

5

Ø28.2

o_01_44_04

2-Ø5.5

2-R1

2-R1

!  �By inserting in between the frame tube and the joint, 
it scratches the anodized surface to gain electrical 
conduction. (Refer to the application example below.)

FFS104

FFS104 HFS6-3030 

FFA28

FFS106

30
.2

12
.7

1.
8

R14

55.5

5
10

5

R18.2

20
10

30
.2

12
.7

1.
8

10

76
52 55

20 10
5

R14

10 3

Ø1
7

Ø2
8

25.5

Saddles with One Fixing
FFS101 Set of 4

Saddles with Two Fixings
FFS102 Set of 4

Inner Cap
FFS103 Set of 4 
Applicable Frame: FFA28

Panel Holder
FFS107

M5

12

Ø7
.9

M5

12
.7

5
15

.2
5

12.75
19.5

12

24

32

FFS101

FFS102

ATBD 
(P.3054)

FFA28 
(P.2995)

(P.2723)

Part Number Mass (g/pc.) Pcs/Pkg

FFS101 19 4

FFS102 24 4

FFS103 4 4

FFS107 8 1

Part Number Mass (g/pc.) Pcs/Pkg

FFS104 1 50

FFS105 70 1

FFS106 14 10

!  �Please confirm order quantity when ordering per package.

Part Number Material Surface Treatment

FFS101
FFS102

Low Carbon Steel Trivalent Chromate

FFS103 Polyethylene
—

FFS107 Polypropylene

Part Number

FFS104

Part Number

FFS101

!  Please confirm order quantity when ordering per package.

(P.2995)

Accessories for 
Factory Frames

Accessories for 
Factory Frames

FFA28 (P.2995)

MSST3-6 (P.2409)

FFS201

FFA28 
(P.2995)

FFS202-12

FFA28 (P.2995)

FFS203-8
NFJN8-50
(P.3166)

Part Number Mass (g)

FFS203-12 80

FFS204 18

FFS205 80

Part Number Mass (g)

FFS201 320

FFS202-12 264

FFS203-8 15

Pipe Stands

FFS201
Adjustment Bolt Set

FFS202–12 Applicable Frame: FFA28

Insert Nut M8

FFS203–8 Applicable Frame: FFA28

Ø107

30
26

A

3-Ø5.2 Ø68
Arrow View A2.

5
30

97
.5

10
0

M3

30
26 22

4
Ø11

Ø60

20
8

10

M12

35
10

0
28

2828Ø1
7

25
.5

525 M8 Nut

Ø10

!  Screw is not included.

Accessory: Hexagon Socket Head Cap Screw M5-20 x 1 Nut for M5 x 1

Insert Nut M12
FFS203–12 Applicable Frame: FFA28

Rubber Foot
FFS204 Applicable Frame: FFA28

35
5

1.2°
R0.5

Ø2
8

25.5 Ø24.6

M12

37
17 20

Ø2
8

o_02_44_04

37
17 20

Ø2
8

o_02_44_04

Clamp for Factory Frame
FFS205

2-Ø5M5 Nut

50
437

6.6
30
10

25

14
.5

25
.4

5
30 60

7.
5 45

±
0.

1

M5Bolt

FFA28 (P.2995)

FFS203-12

FFS301-50-R (P.3003)

HFS8-4590

HNTT8-5

CBM5-18

HFS6-3030

FFA28

!  Applicable to FFS201 only.

Alteration Code Spec.

Set Screw SET 2 set screws (M3-6) come  
with FFS201 as a set.

Part Number Material Surface Treatment

FFS203-12 1045 Carbon Steel  
or Equivalent

—FFS204 Chloroprene Rubber

FFS205 ADC12 Aluminum Alloy 
Cast or Equivalent

Part Number Material Surface 
Treatment

FFS201 Low Carbon Steel
Trivalent 

ChromateFFS202-12
Leveling Mount: 1018 Carbon Steel or Equivalent

Insert Nuts: 1045 Carbon Steel or Equivalent

FFS203-8
Main Body: Polyethylene —

Nut: 1018 Carbon Steel or Equivalent Trivalent 
Chromate

Part Number

FFS203-12

Part Number

FFS202-12

Part Number - (SET)

FFS201 - SET

(P.2995)

 (P.2381)

 (P.2809)

 (P.2796)

 (P.2723)

Accessories for Factory Frames


